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QUESTION 1

An administrator adds User A to an IBM Notes Traveler device settings document, which requires an alphanumeric
password for Apple devices. The administrator then adds User A to Group A, which is listed in the Notes Traveler Policy
Settings document. The Notes Traveler Policy Settings document requires Apple users to have a device password
length of 6. 

What behavior will User A experience on the device? 

A. User A will be required to have an alphanumeric password. 

B. User A will be required to have the device password length of 6 characters. 

C. User A will not be prompted for a password at all because two policies have been applied. 

D. User A will not be prompted because this security option is not supported for Apple devices. 

Correct Answer: B  

 

QUESTION 2

IBM Notes Traveler High Availability Pools require which technology to provide failover to clients? 

A. firewall 

B. load balancer 

C. reverse proxy 

D. packet shaper 

Correct Answer: B 

 

QUESTION 3

Tim is configuring his IBM Notes Traveler server to use an enterprise database. The Traveler task is reporting an error
that the JDBC jar cannot be found or started during server startup. Tim has already validated the JDBC jar file location
is correctly defined in the notes.ini. 

What could be preventing the load of the driver? 

A. Tim failed to configure the JVM security to allow the jar to be loaded. 

B. Tim failed to build a trusted Program document in the lotustraveler.nsf. 

C. Tim failed to update the java.security file to allow the JDBC Jar to be loaded. 

D. Tim failed to update the jdbc.security file in the IBM Domino server data directory to include the path to the JDBC jar
file. 

Correct Answer: A 
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QUESTION 4

Sabrina needs to allow users to install device software for IBM Notes Traveler. She has supplied the Notes Traveler
home page URL to her users with instructions to connect to the server. 

What statement describes the install steps for iOS devices? 

A. To install the client software, the user must connect to the Notes Traveler server to initialize the device and then
create an Apple account. 

B. There is no client software to install. The user must create a profile on the device for mail, calendar, and contacts
before he/she can connect to the Notes Traveler server. 

C. The user must create a profile on the device for mail, calendar, and contacts before he/she can connect to the Notes
Traveler server and use the provided URL to download the software. 

D. The user must create a Notes Traveler account on the device for mail, calendar, and contacts before he/she can
connect to the Notes Traveler server and use the provided URL to download the client software. 

Correct Answer: B 

 

 

QUESTION 5

How is an IBM Notes Traveler Availability Index of -50 interpreted in the web administration interface? 

A. The server is not running. 

B. The server is running and 50% available. 

C. The server is running, but can accept no new work. 

D. The server is running but constrained, and new syncs are not allowed. 

Correct Answer: D 
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